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(i) Desktop computer

(ii) Laptop computer

(iii) Palmtop computer / notebook.



(3mks)

(iv) Computers process data fasterZ
(v) Computers are more accurate

(vi) Computers are more efficient.



                           (3mks) 

(a) This is the process of dividing a large physical disk into two or more partitions called logical drives






                  (1mk)

(b) (i) The user may intend to install more than one operating system on the same disk.

(ii) For purpose of backup on the same disk but different partitions.  
(vii) A good computer must have high processor speed.


    (1mk)
(viii) It is important to understand the terms and conditions of after selling a product in case of failure or malfunction that is whether the seller is ready to provide after sales services.






                                         (1mk)

(ix)  The best convention would be to buy a computer that can easily be upgraded to accommodate emergent technologies.




    (1mk)

(x) Smaller computer enhances mobility.




     (1mk)

        Name the three components of a spreadsheet                                                        ( 3mks)

   


-
Database

-
Graphs

-
Worksheet

(a)  [image: image1.png]



(b)   [image: image2.png]|iotol] LML




(c) [image: image3.png]



7. a 

i. Set a printer as a default.

ii. The printer may have been configured to the wrong port.

iii. Check the picking mechanism of the paper.

                           (Award 1 mark for each correct answer)
b)  Speed of the output device

       Nature of the output)    
·   scanner

· keyboard
· Mouse
8. .
State any three factors to consider when preparing a computer laboratory ( 3mks)
· security of programs and other resources

· reliability of the ( source of ) power

· the number of computers to be installed and available floor space

· the maximum number of users that the laboratory can accommodate.

a. Command line interface.




(1mk)

b. Menu driven interface.




(1mk)

c. Graphical use interface




(1mk) 

d. It is a feature which enables text to automatically flow to the next line if  the  end of the current one is reached.



                                    (1mk)

e. Thesaurus is a feature used to find synonms and antonymus.

(1mk)
 11.
Explain the following terms as used in information Technology with reference 

to software purchase:-

          


   i) 
User friendliness                                                            ( 1mk )

Refers to how easy the software is to use for the user.

         


    ii)
 Authenticity                                                                  ( 1mk )

The genuinessess , validity and / or legitimacy of the software.
12     Start button- this is on the extreme left end with a word start together with a Microsoft logo. It is used to access programs as well as shut down the computer.

Task Manager – this is the middle part of the bar which displays any task / program that is running

System tray- this is the right most part which bears the system clock

    (Each well explained 1 mk x 3 = 3mks)
13) With reference to disk management explain what is meant by the terms below.
         i)         Formatting                                                                         ( 1mk)

· Preparing disks for data storage by creating sectors and tracks on the disk surface.
                    ii)          Defragmentation                                                               ( 1mk)

· The rearrangement of scattered files on a storage media in order to speed 

up access to files.


         iii)        Disk partitioning                                                            ( 1mk)

· -The process of dividing a large physical disk into two or more portions / logical drives or volumes.


c) Give any two reasons that may make the shopkeeper to partition the computer disk                                             
· In order to install more than one operating system on the same disk.

· In order to be able to make back up on the same disk.

14.

· Authenticity

· Documentation

· User needs

· Reliability

· User friendliness 

· Cost

· Compatibility and system configurations

· Portability




(Any correct answer award 1 mark)  1 x 4 = 4mks

15.
(a) Functions are predefined formula that can be used quickly instead of having to create a new one each time a calculation has to be carried out.


(1mk)


- Formulas are user defined mathematical expressions that create relationship between cells and return a value in chosen cells.

(1mk)

11.(a) = SUM IF (A1: A5,”>60”)

      - Correct fuction  










1mk

      - Correct values in brackets  








1mk

·  Equal sign
· function name

· Range
(b) This is where database are created for different departments in an organizations in different computers that are networked 

(2mks)
(ii) - Searching of items is fast.




(1mk)
      - No interference of other departments data


(1mk)

(c)  - used to enter data into tables.
- Display data from tables and queries.

(d) -  Ms word
- WordStar

- word perfect etc

                                                          For Any word processor package award

1 mark 
(max = 2mks).





18. 
(a) 
Differentiate the term data and information

             
Data; Raw fact fed into the computer for processing/unprocessed facts

             
Information; result of data processing




(1mk)

      
(b) 

· Easy to develop devices that can understand it than natural language

· Simplifies technology needed to develop both hardware and software

· Digital devices are reliable

· Digital devices are small in size

· They are less energy


(any two of above 2 marks)


 (c) 
List any four computer processing files

· Master file

· Transaction file

· Back up file

· Reference file.







(2mks)


 (d) 
List two type of data representation used in computing

               

Number systems and their representation

                
Symbolic representation using coding schemes.



(2mks)


 (e) 
Define the following terms 

               
(i) Nibble

                
Half a byte, a group of 4 bits.                                                               
(6mks)

17.
(a)
(i)
62510 = 10011100012  (2 mks)



(ii)
25.12510 = 11001.0012  (3 mks)

(b)
(i)
1010 + 1111
(2 mks)



             = 110012


 
(ii)
1111111 + 100 101 + 1100102  (3 mks)





= 110101102

(c )
(i)
2410 – 710 = 100012
(2 mks)



(ii)
2810 – 1510 = 1101 (3 mks)

(d)   Describe three different ways a computer may store negative numbers. ( 6 marks )
· Sign and Magnitude - leading zero indicates positive number and a leading one indicates the number is negative
· Ones complement - the binary number is inverted i.e. the ones become zeros and the zeros become ones.
· Twos Complement - the binary number is converted first to ones complement and then a one is added to the final answer.

e) Give the acronym name for the following ( 3 marks)
i) BCD   -     Binary Coded Decimal
ii) ASCII -     American Standard Code for Information Interchange
18. a)   i)
Transforming of raw facts to finished and wanted information    ( 2mks well explained) 


b)
Stages through which data passes before if becomes the finished and wanted information and 



in the form wanted. 





(2mks well explained) 

ii) -
Misreading

-
Transposition 


              (well described each 2 mks x 2 = 4mks) 

iii) Manual data processing.

Mechanical data processing

